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0 A caniste.r of gas, of the type used in camping sgoves, contains mainly butane under sufficient pressure
to cause it to liquefy partially. dpc=a13K C4H .
(a) What do you understand by the term ideal gas? [
() Would you expect the gas in the canister to behave as an ideal gas? Explain your answer. 2]
(c) Describe how increasing the pressure on a gas can sometimes cause it to liquefy. [2]
(d) Describe the main forces that occur between molecules of butane, and explain how they arise. [2]

(e) A canister was connected to a gas syringgﬁd the valve opened slightly to allow some of the gas
104 213 into the syringe. It was found that 0.200 g of the gas took up a volume of 96.0 ﬂ\’ ata

temperature of 20.0 °C and a pressure of 1.02 x 10° Pa. v* (WL R
kUﬂ'!ll!'gtﬁl gas equation p¥ = nRT to calculate the average M, of the gas mixture. 2]
(f) Suggest a reason why propane is used instead of butane for gas stoves in cold climates in the

I winter. [
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